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S0233 / $2042 / APPLIED MATHEMATICS ,S\fgj']

Q. P. Code~20945 A

(Time: 2% hours)

(1) All questions are compulsory. Pl
(2) Make suitable assumptions wherever necessary and state the as
(3) Answers to the same guestion must be written ;oggthe;

(4) Numbers to the right indicate marks.

(5) Draw peat labeled diagrams wherever n necessaty.
(6) Use of Non-programmable calculators is allo!ggg

VoD T 7 o
Attempt any three of the following: i"--- N & D) A
Find the Adjoint of the given matrix and hence ﬂnd Inverse |f e)uSt il
2 -4 3 FESE o dads IS

Expand{i ‘ECOS ..i-ﬂ‘—x)ﬁ‘ e
Evaluate {1«4- W / (V3 - ,):7

. iny theee o o 15
Sﬁ\l@e the"lefefentlai Eqpatlbn (%~ 4xv 2y )dx + (y —4xy -2x?) dy = 0
Solye the,mﬁgrenttafﬁquatlon dy/dx + xzy x5
Sﬁivg thae fblidwlng EQuation x*p? - 2xpy + (2y - xz) 0
15

""lu'ét;é f e"ztsm tdc

Fmﬁ‘ the uwerse Lapladeiransform for the function
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— el dc
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d.  Obtain the Inverse Laplace transform of each of the given function s

(s +:1) 5

e.  Find Inverse Laplace Transformatmn by Convolutlon theorem for

e 1)(s2 T4

£ By using fundamental deﬂni’gion, find laplace transform of f[t)- G
Flt)=t, O<t<4 i SR

=5 t>4
.law ?‘..
4. Attempt any three of the following:
a. ) : :
i e
Evaluate f f e Vdydy ..
o Jo
b. : i s : 7
3 VA 4 it
Ebaiuaref f et S e
0 0, A
c' ’
gz
Evaluate:f_‘._. g
d. ’

Eo B
E?dluti_t;g' f

f. Soive ﬂ r3 drd& over the area fntiuded between the circles r = 2sinf and
vl s r 4 smG . .

g “ -5:; Attempt _u_ghggnf the fdllowing. 15

-

: EvaIUateJ; sln st"k dx :

b Eva]uaté 1) er‘fc(—x]fr erfc(x)
ii) e-rfi:{x) + erf(x)

E Eqélh'at‘e" j’n?zf xfi‘aigfr'— 222y

/2 05 2xdx
d. Evaluate Io sin” 2x

e. 1 %7 dx
Evaluate [y G

1 (x%~x®

X
f. Evaluate Io logx d




N. B.:

TP a0 oo R

o N

oo

"o » ow

et O = IO 0

SHEY
¥ {72 If")
Q.P. Code:';Z-;QQsd_ &5

(Time: 2% hours) RS ORSI Y S R R, ‘ ;
Ao _‘_"iTo‘taI"Ma,‘rks; LR

(1) All questions are compulsory. S P PR Rt e e
(2) Make suitable assumptions wherever necessary and state the a sumptions made.
(3) Answers to the same question must be W[Itteg:fpget'her-. A et I ot

(4) Numbers to the right indicate Markstee o o LF G0 HE

(5) Draw neat labeled diagrams wherever nege ssary.

(6) Use of Non-programmable calculatdrs i allowed.

Attempt any three of the following: I N A S ARV , 15
What is Python? List and explain feature of Python. SR g

Write the steps to install Python and to run Python code. -

Explain type conversion of va riable in Python.

Explain if...else statement with example, ; o

Explain the use of break statement in a loop with‘exarri'ple. i AT

What is the difference between interactive mode and script mode in’Python‘? :

Attempt any three of the following: SRS SR SN . 15
How function is defined and called'in Python? Y A e

Write a function ‘fhat’ takes single character and ‘prlml:s"‘charétter is vowel’ if it is vowel,
‘character is not vowel’.otherwise. YRR TR B

Short note on'incremental development. 3 D

What is recursive function? Write a Python program to talculate factorial of a number using
recursive function? : DA

Explain vatious string bpérations that can be performed using operators in Python.

Explain str.find() function with suitable example. -

. Attérﬁpt any three of the followingi Qi 15

What s list? How to create Jist? e

Explain t’ry..-,éxcépt blocks for exception handling in Python.
Explain varlqt}s_b@:ilﬁ-in list functions and methods.

What_i_s tuple in Python? How to.create and access it?
Explain the properties of dictiona ry keys.

“Explain open() and close() methods for opening and closing a file,

Attempt any three of the following: 15

What is regular expression? Explain various patterns of regular expression,
Explain-match() function with suitable example.

What is method OVEfriding? Write an example.

What is multithréaded programming? Explain _thread module with suitable example.
What i; module? What are the advantages of using module?
Explain various functions of math module.
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§0233 / §2040 / COMPUTER NETWORKS

Q.P. Code: 20939 ST 1

(Time: 2% hours) j :
Total Marks: 75

(1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary and Mmﬂgg_ made
(3) Answers to the same guestion must be written together.
(4) Numbers to the right indicate marks.

(5) Draw neat labeled diagrams wherever necessary.
(6) Use of Non-programmable calculators is a!que‘ﬁi

-

Attempt any three of the following: " Vo v (0,4 8 15
Define Data Communication. Explain its various components )
List and explain the functions of 1SO’s OS| Model Layers.
What do you mean by Transmission line Impairments? Explainin detall
Explain the following terms in relation with Data Communication
(i) Half Duplex System. :
(ii) Full Duplex System.

Define Modulation. Write a short note on Amplitude Modulation.
Explain the following terms of Data Transmission

(i) Parallel Transmission.

(ii) Serial Transmission.

Attempt any three of the following: ( : 15
Differentiate between Frequency Division Multlplexmg (FDM) and Time Division Multiplexing
(TDM).
Write a short note on Spread Spectrum Modulation (SSM) techniques along with its
Application.
Discuss the major ciassrficati_c’)ns of transmission media.
What is Packet Switching? Explain its methods of implementation.
Define Error under scope of networking and explain its types.
Explain the following terms

- i) Forward Error Correction (FEC).

{ii) Automatic request for Retransmission (ARQ).

Attempt any three of the following: 15
Explain ALOHA system with its two versions.

" Discuss GO BACK N ARQ protocol in detail.

Explain Bluetooth Layered Architecture.
Differentiate between satellite communication and optical communication.

' Explain the following connecting devices in networking

(i) Bridge.
(ii) Gateway..

Explain.CSMA with collision detection.
' [TURN OVER]
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Attempt any three of the following:
Explain the terms: ;

(i) Connection Oriented Network Sem{:gs

(i1) Connectionless Network Services. .- g
Write a short note on static algorithm and explain any tWO
What is fragmentation? Explain its various strategles
Draw and explain IPv4 header structure. o ] : :
For a given class ‘C network 195.188.65. 0 deSlgn equal subnets m 'such 3 Way that each
subnet has atleast 60 nodes. ' &
A class ‘B’ network on the internet has a subnet mask of 255 255 240 0 3 Wha .s-",the
maximum number of hosts per sub networks?: >

Attempt any three of the folloﬁving: AT NIt 5 £ 15
Write a short note on TCP. : : YNNG S
Explain Addressing Issues oftransport Protocol AV NNING
What do you mean by Domain Name System?! What i is the use af the same?
Explain Simple Mail Transfer Protocol (SMTP). : SR
Write a short note on following
(i) TELNE_T -
(ii) FTP.' -
Differentiate betWEEn TCP and UDP.

DA ATEECEERF 17E4AFSS8EB6BB71813865
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$0233 /82039 / DATA STRUCTURES

ST

(2% hours) N

(1) All questions are ;_o_mp_u_l_ggg ‘ ;
(2) Make suitable assumptions wherever necessary and s. : te ti
(3) Answers to the same question must be W_ri;Le__,t,qggghg_
(4) Numbers to the right indicate marks. O
(5) Draw neat labeled diagrams wherever ngcss:a.m
(6) Use of Non-programmable calculators is gl_!gm

Attempt any three of the following: ¥
What is data structure? Explain dlﬁerentxategorlés of. data ,§t f
List and explain different operations that can. be‘perfdrméd on a,tlat@tr‘udu(e O '
Define different asymptotic notations- used to m&@ure the~cpmpfexlty bf‘an algonthm N
Discus memory representation of gﬂﬁﬂlmenstbna] | arrayet o P ho A AN
Differentiate between linear sea(éhanéi blnant Searﬁh
Consider a two dimensional a?rﬁfmﬁ s 2;6] .:,Ifk { -b& }
element takes 2 memory celfs then ﬁng ’cbe addféﬁs of Dd 0 e!emqnt assumlng that

i Array D is sorted mtb&lunlnmajdr Qrder. & S

ii. ArrayDis sortedfrg TOW | ma;o,[’ordei A »«* o CRESL
What is sparse matrix? Expla:n‘d[ﬁqrent ways of représentmg sbarse métnx into memory.

;‘,,\'v,‘ \

1
P o3 / Y =

oy r

Attempt any th;gg“ of thé follbwln{ AR A, &

Explain how mahmgrwSaH&aﬁeﬂ hd: dealldcal‘ed for linked llsn

Write and expTath an aigdnthm to Lnsertﬁ néwelemmﬂhto sorteﬂ lmked list.

Write and eiplmh an algo?tthqr ta sphta Ilnked list mto twd hnkgd lists.

Write and' &xgam‘an algorklthmmﬂefete aﬂode ;onthlnmg ItEm from a doubly linked list.
What i§. hé‘adeﬂiﬂke& Irsf?%xblarh dlffemnt categone?of header linked list.

Wrrtn algorrthi’n 1o SubttagttWDpol\)nomuals AU IRED

15

15

{ﬂtipn algbrtthm S

‘-;‘.

“S'y;'itax ven

" \Convert foﬂav(ng mf:x exprgssléﬂ inte pif'ef X ahd postfix expressions.

e caxbx(ed) (e A35 ) + g A
e T:‘ ‘ 2 g ‘C.ld\ﬂ' E} %

Wha’g 15 recurglbn?VWbatar&d:sadvant&ges of recursion?

erte an. aFgenthm to evaluafe an anthn’tetlc postfix expression and calculate the result of the

expressmm G:ve»suu‘.able exam_nje

Wha§ lsﬂueué?How< quéqé o represented in memory? Write and explain an algorithm to

~insert: elemént\mtb mrt:qa rfqlge ue.

Explaln WIth Exa“'_ , pLe pﬂqr lt\T‘_ U

of the tdllowmg 15
~_Sort the’ follﬁwmg elements using merge sort.

23 56 433478 62 93 53 49 82
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Explain with example the following terms:

i. Degree of a node

ii. Path

iii. Internal node

iv. Similar binary trees

v. Complete binary tree
Draw the binary tree whose inord
In-order: gdbheiafc
Pre-order: abdgehicf /S’é <
Make a binary search tree by lﬁwﬁnﬁiﬁ%
52369829 123391556 3 13ﬁ§ »73 &
Draw max and min heap:witﬁ;tﬁ Qllé

z
>

..

Ny \‘
wms@éﬁgeq;

80 59 25 30 100 45 62:89- : R (‘g P,
SN
What is AVL tree? Wﬁg{éﬁq}m db?wg i AVL
\ ('\ e vﬂ P,

Attempt

: qutwgrapl;l t(aVersal,téchnquEWriiQ\a d eXpIaln algorithm for any one. Give suitable

exém“ble “‘*x z““ & ‘{” 4 '8
Exﬁlam\w;th‘éxamp}m Uk.q\trgnsher)tést}bath algorithm.
Expl ‘ex ’\ e\i’uu‘(f[«s aiguf’ilhm to find the Minimum Spanning Tree (MST).

)\,\-\

with ex
Listaiffetent l;ésh?qg mb‘thgﬂs\\ﬁg(plam with example any two of them.

fefhnlques g,‘f dpen addressing. Explain any one.
Y

o ‘:.\'
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S0233 /52041 DATABASE MANAGEMENT SYSTEM g,\ 13 _,. ﬂ C

Q.P. Code: ?0943 | M"’/H} |7

(Time: 2% Hours) ; a0
b [Tdt@l:Mark;:i 757

(1) All questions are compulsory. S W 2~ ;
(2) Make suitable assumptions wherever necessary and state the assumptions made,
(3) Answers to the same question must be written tog ether. Vi S gl E

(4) Numbers to the right indicate marks. :

(5) Draw neat labelled diagrams wherever necessary. L SR
(6) Use of Non-programmable calculators is allowed. . 3

o
Attempt any three of the following: : ' ) : ! _ 15
Suppose you want to build a video site simiilar to YouTube and keep data in file-processing
system. Discuss the relevance of each of the following points to the storage of actual video data,
and to metadata about the video, such as title, the user who uploaded it, tags, and which users
viewed it. 5 ‘ o : : ;
i. Data redundancy and inconsjkteﬁcy‘ ‘
ii. Difficulty in accessing data :
iii. Data isolation kst
iv. Integrity problems e
v. Atomicity problems i
vi. Concurrent system anomalies
vii. Security problems < - D
State the advantages and disadvantages of the following data models: Hierarchical, Netwarl,
Relational, Entity Relationship, Object Oriented and NoSQL. State if the models support data and
structural independence. o . o :
State and explain the twelve Codd’s rules for relational databases.
What is Unified modelling language? What are its parts? Show the ER diagram notations and
equivalent notations in UML. - :
Construct an E-R diagram for a car insurance company whose customers Own one or more cars
each. Each car has associated with it zero to any number of recorded accidents. Each insurance
policy covers one or more cars, and has Oone or more premium Payments associated with it. Fach
payment is for a particular period of time, and has an associated due date, and the date when the
Payment was received. £y
Design an E-R diagram for keeping track of the exploits of your favourite sports team. You
should store the matches played, the scores In each match, the players in each match, and
individual player statistics for each match Summary statistics should be modelled as derived
attributes.
Consider an E-R diagram in which the same entity set appears several times, with its attributes
repeated in more than one occurrence. Why is allowing this redundancy a bad practice that
one should avoid?
Attempt any three of the following: 15

The natural outer-join operations extend the natural-join Operation so that tuples from the
participating relations are not lost in the result of the join. Describe how the theta join operation

can be extended <o that tuples from the left, right, or both relations are not lost from the resyit of
a'theta join, -

[TURN OVER]
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SULIIT 32041 DATABASE MANAGEMENT SYSTEM _
QP. Code: 20943

Given the following'_rellationalschemas: R =(4,B, C) : S = (D, E‘,F) iV
Suppose the relations r(R) and s(S) are defined. Write the expressions in t"up:l_e relational calcyl
€quivalent to each of the following: R o ey s

L m S Hi. rxg Aveta [Tar(oe_p(r XN
Consider the relational database below, where primary keys are underlined. ..~ ., 1 P o
employee (person name, street, city) oS S . ; Eaglt
works (person name, compan fame, salary) Xl B Pt S
company[camganzname, city) S S QT L T
Mmanages (person name, manager name) ; e A B O o &

ii.  Find all cities of residence of aﬂgmp!oy_eeé who work djrg'ct'ly fori- “Iongs.r’

V. Find those employees whq earn rhqre_:_th'anj'ali ér'n‘pld{igéi;"._ﬁ%i;hg 'in\ .thg' ¢i'ty,: ”_Mumbqi.” ':
What js normalization? What js its Objective? Give a _d'istihguisf_iiﬂé éhﬁé.r\a'ct'eris_'ti_c of INF, 21vF, :
3NF, 4NF and BenE. PRI S e R Sy

I Using the INvojcE table structure shown in'table pe,lo»\f;"'write"thefrelation’ai schema, draw its
dependency diagram ang identify éli'depéﬁ'd:é"‘r}c'i_es (ihc!Uding all partial ang transitive
dependencies), yo can assume that the table does hot contain Péneating:g'rqups‘and that any

invoice number  may re_ferénce_mbre_thqh one praduct, (Hint: This table uses 5 composite

Primary key,) By o0 2 Qo0 R R VTS PG , o
Attribute
Name

QD-300932)"

15-Jan-2016 | 15

B P
| 157

ToughGo,
Inc.

Nevér_FaH,‘ ,
Ing o

NeverFail, =
INEY 0.8 o

YOu created.

.Explain'_the_ f)hése’s_ O?Z.d’a_tabaée deéign.

 Attempt any three df :'t_hequ.H'(::wing:
. ~What are chstra’ints? What are the different types of constraints? Explain.

[TURN OVER]
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S0233 / S2041 DATABASE MANAGEMENT SYSTEM

Q.P. Code: 20943
What are joins? What are different types of joins? Explain. ' }

Attempt any three of the following: ,
The lost update anomaly is said to occur if a transaction T; reads a data’ item then another’

oy

transaction T, writes the data item (possibly based on a previous read), after which T, writes the -
data item. The update performed by Ty has been lost, since the update done by T, lgnored the value

written by Tj . ‘
i. Give an example of a schedule showing the lost update anomaly

ii. Give an example schedule to show that the lost update anomaly is: p055|ble w1th the read -

committed isolation level, o

N

iii.  Explain why the lost update anomaly is not posslble with the. repeatable read |sotat10n level

State and explain the ACID properties of transactions. <.,

il Consider a database for a bank where the database system uses snapshot asoiatron Descrlbn :

a particular scenario in which a nonsenahzable execution occurs that would present a
problem for the bank.

ii. ~ Consider a database for an airline where the database system uses snapshot isolation.
Describe a partlcular scenario in which a nonserializable execution occurs, but the airline
may be willing to accept it in order to galn better overall performance.

Show that the two-phase locking protocol ensures confllct serlallzablhty, and that tra nsactlons can

be serialized according to their lock pomts - -

Consider the following two transactlons. Sl

Tas: read(A); ' :

read(B);
ifA=0thenB := B+1
write(B).
Tas: read(B);
read(A);, -
ifB= OthEnA A+1
write(A). ! 2

Add lock and unlock instructions to transactions Taa and T35, so that they observe the two-phase

locking protocol Can the execution of these transactlons reSuIt in a deadlock?

Explain the different ways to handle deadlocks

Attempt any three of the following:

What are triggers? What are different types of trlggers? How are they created? Give the syntax
and examples of the Same

What are packages? What are the components of packages? How are packages developed? Explain
with syntak and example

What are functions? What are procedures? How do they differ from each other? What are the
benefits of stored procedures and functions?

What is a cursor? Explaln.lmphmt.and explicit cursors. How are explicit cursors controlled?

What are hierarchical queries? Explain the syntax of hierarchical queries.

What are composite data types? Explain the PL/SQL records. How is a PL/SQL record created?

g B864D237BCIEIDO4EOF665F180A8D45D
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Q.1

Q.2

AT 1NN

A0933 / A3932 ADVANCED COMPUTERS

Q.P. Code :20991

[Time: 2:30 Hours| | Marks:75]

Please check whether you have got the rlght questlon paper X

N.B: 1. Attempt all questions.
2. Draw diagrams where necessary,

Answer the following - oy A s 15

a. What is a Google Search Engme'? How does: 1t wm'ks‘? What are thé':di_ffgréht'tj_fpes of search 10

engines?
b. What is BLOG? Explain in detail. - _ "SI F SRS 05
Answer the Following S T P IR 15
a. What is content marketlng? How s it helpmg compames to bulld an onlme presence? 08
b. What is Adobe Flash'? What is it used FoE7 > v AT . 07
c. Whatis CSS?-Explam-lts Vartons types.” & o7nv el o el 08
d. Demgn an emall mgnup formin HTML AR 07
Answer the fo]lowmg . I 15
a. AnsWer the followmg : | 08
i. Image L gy
ii, - Headtag
iii, . Hyperlinks
b. Whalt are the various views available in Dreamweaver? Explain them in detail. 07
TP e OR
¢. - Answer the following 08
i. * Tables it HTML
)i Internet Browser

lii. Web page

d. Using tables dem gn a page in HTML to prepare a calendar of your birthday month with the 07
date hlghllghted

84A7909CA5D17CT1 E6FO0E4C361A602E
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Q.4

“BalGanesh”.

b. What is Adobe Audition? I

a. Explainind

Answer the Fam 4
Write short notes (Anyfhre!)

Q5

a0
n.ma :
._wwm
m_.m.m _
~nEES
<O
§5 6T o
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A0933 / A3931 / INTRODUCTION TO CULTURAL STUDIES. £ €

Q. P. Code: 23439

Time: 2 Y2 hrs Marks 75

Instructions: (a) All questions are compulsory and carry equal marks
(b) Figures to the right indicate marks
(c) Support answers with examples wherever necessary

-

:.'23‘

Q1 Explain any five from the following in four to five sentences : - [15]
1. Culture
2. Representation
3. Articulation
4. Subjectivity & identity
5. Globalization
6. Art
7. Cuisines
Q2 A Write a note on evolution, need and significance of cultural studies. [8]
B Explain Stuart Hall's idea of the Circuit of culture. [7]
OR
Q2 C Discuss the relevance of Technology in the construction of culture. [15]
Q3 A Elaborate on how language is re represented in media? [8]
B Explain how is Gender re-represented in the media? 7]
; OR
Q3 C Discuss the process of Globalization and how it affects culture? [15]

Q4 A Discuss the changing values and ideologies in contemporary society with  [8]
examples.
B - Explain Popular culture with your own examples in the current day 71
context.
OR
C Elaborate how Folklore, Fashions and Fad represents culture [15]

Q5 Write short notes on ANY THREE:- [15]
Diffusionism

Cultural Materialism

Oral Traditions

Sports and Media

Architecture

En L0 P, =

Turn Over
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Q P. Code: 20718
jwmf

SerA

TIME: 2.5 hours ; MARKS 75

+ All questions are compulsory.
+ Provide relevant examples wherever necessary.

» Public Relation is abbreviated as PR in the paper.:

Qla. Define Public Relations? Explain the role of Public relatlons in. contemporary times
with suitable PR examples. FIFTIFL L F RE NE LLS)
QIb. ‘Managing uncertainty is essential fof' PR’ Explaln the Cnms Comnmmcatlon Plan

with an appropriate example. =~ . I DL (15)

QQ2a. ‘PR activities aim to earn pub]w understandmg and acceptance, to gam pubhc support’.

Explain the statement w1th tﬁe funetions PP S S LR SEIN ot (08)

Q2b. Differentiate between Pubhc Relattons and Brandmg TS E (07)
y@Ra.'“ ANES |
Q2. Explain the (,oncept of Dark BR at length What are the quahnes of a Public
Relations Practltloner‘? PEF FLS PR (15)

Q3a. ‘state any 4 pomts of dlfference between In house PR and PR agency. (08)
Q3b. Plan dnd organlze an mnovat!ve Press Conference for a trailer launch of latest TV

scries or a movie. - - 2 F VS Faleghs (07)

' OR -

Q3. Describe Media:@a ,ﬁon_-media Public Relations Tools and what are the important

factors to be kept in mind while implementing them? (15)

Q4a. DlSClISS the need for soc1a1 responmbxhty of organizations towards different interest
groups FERSO LTS (08)
Q4b. What ate the faotors to be kept in mind while choosing PR agency? (07)

y : OR
Q4 What is 'New Age Media? Ilustrate the importance of new age media in the context

of PR with'a‘suppo'rt' of PR campaign? (15)

B864D237BCIEIDO4EOF665F180A9BDDS
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(d) Investors Relations and PR

(c) Opinion Leaders in PR c
(e) Media Pitch

(b) Impression manag

QSl Write Short Notes on (any 3
(a) PR v/s Sales Promo .



A0933 / A3930 INTRODUCTION TO PUBLIC RELATION

Q5. Write Short Notes on (any 3)

(a) PR v/s Sales Pro

(b) Impression management technidues

I

B864D237BCYEIDO4EOF665F | 80A9BDDS

(d) Investors Relations and PR

(c) Opinion Leaders in PR commt
(e) Media Pitch



A0933 / A3929 / UNDERSTANDING CINEMA ,9\" M T\r\

127 Q.P. Code: 23042 X TRA
Time: 2 hours 30 minutes i ___ Marks: 75

Note: 1) Question no. 1 is compulsory.
2) Question no. 2, 3, 4 & 5 has internal choice.
3) Figures to right indicate marks.

Q.1  Describe the journey of Indian cinema from Raja Harishchandré‘ to Bahubali. = (15)

L

%
Q.2 Discuss diverse film genres with example. = : (15)
OR

a) What is Neo- realism in cinema and its impact on Indian film makers? (8)

b) How medium of cinema is mel_ti!igpot of all mediums? a7

Q.3  Write the contribution of V. w, Satyajit Ray and other regional

film-makers to cinema. _* (1s)
) - OR
a) Explain different shotsm lﬂm to human figure. (8)

b) What is the d1fferenee Beﬁun Newsteels & Public Service Ads? (7)

Q.4  Does Branding, Proi‘nmlon, Mﬁmg belp in the production & business of cinema?

Justify your stand. =~ (15)
a) Describe the dlfferent types of transitions. (8)
b) Why are songs mtegral paﬂsof Indian cinema? (7)
Q.5  Write short notes on (ggy_m (15)

i) Director

ii) Continuity

iii) Storyboard

iv) Nouvelle vague

V). Subjective camera

BOA7EFCFESE 1 2E4FSSSERSSRT17E3248
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(2 Hours)

N.B.: 1. All questions are compulsory.
2. Figures to the right indicate marks.

Q | B. Explain any one of the following:

i)  Agenda Setting Theory
if)  Uses & Gratification Theory

Q 2. Explain:

A. New Medmtlwetymthrespecttg« Q
(l)Socml Medll OR (ii) O'IT d

Q3 Discuss:
A. (i) Media & D (08)
B. Trends in Media w:m 07)
,\‘D
’ -'\'.\“‘\.
Q4 .Explain: »:h;"
e 3l iy
A. (i) Fem:mst (08)
Ay .\\.. .\,
(07)
(15)
TURN OVER

3E6BT718D52E9CD56C0361663F6B1C417
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v A0933 / A0928 INTRODUCTION TO CREATIVE WRITING
- <y Piw)

[Time: 2:30 Hours]

N.B: 1. All questions are compulsory.
2. Each question carries 15 marks.

Q.1  Using the following points create a fictional character:
Lives in urban/rural

Food habits

Drinking pattern (social drmker/alcohollc] '
Smokes or not
Religious beliefs
Kind of house
Siblings

Parents

Friends

10 Place of birth

11. Place ofresxdence

DS = O CPE e ) b

13 A]lergles
14. Favounte music

VR ",w*%“ S
Q.2 (a) Write a detailed notggﬁ ﬂiﬂ%{sg@f aspects of. ﬂterﬁ}:ﬂr , media, public (15) Q3
speeches, presen;ﬁ*@x“‘*gﬁdﬂﬁt‘gfwéyﬂzs’ &»’“,‘ﬂ’Q

(b) Explain the s@mffcﬁac(gwh Y fi bt}bfﬁﬁimg a work. (08)

(c) Explain howimporta f f 0
CLR
(08)
07) |

")

(08)
(07)
(08) @5

a1 sh“&f}liﬁe‘ﬁrér‘ sée
& t]‘

A t?ee{(w“hpk [ .hqﬁgny mouth is prest
Agamsf‘th éarthfi‘ sweet flowing breast;

Page 1 of 4
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Q.1

Q.3

Q.4

s

C0143 /C0830 BUSINESS LAW I

QP.Code:20745

[Time: Three Hours]

L
)

Please check whether you have got the right que\stiohpaper _

N.B: 1. All questions are compulsory subject to internal choice. - . b
2. All questions carry equal marks. LA 3
3. Figures to the right indicate maximqmﬁxﬁarl__(,s’f el

Y o R

Answer any Two of the following:- \ -' .:$:1 N
a) Explain the essentials of a valid contract. R G A )

b) Discuss the meaning of ‘Offer’ in a cont_t;éﬁt"and-fﬁﬁ lega}gules regardmgbffen\ < :

¢) Who is competent to contract? Explain the effects ofaMindrsagreement Dok

d) Discuss the essentials of ‘consideration’ in a contract.” - RSN
Answer any Two of the following:- .=~ . - o,

a) Explain the meaning of 'Free‘\C—i‘JﬂSegt“'fhl a ¢qh;=raét,;.T@'étin'?gu-i}ih;\b'gt'\'}yé?g agreements
entered into by ‘Fraud’ anq:ﬁg(e_e;_i;jgnts entered into by'Mi_s‘.r;gptéjsén;qtiqpf’.

b) What is a void agreemegﬁ"ﬁ'ﬁkﬁ:gi'ij.-_'thé-ggreemehts‘dé{':l'aré void under the Indian
Contract Act. o e Py R A SRV

¢) Discuss the ‘Quasi Contracts’ given under the Indian Contract’

d) Explain the methqg_‘igbgﬂisﬁ;a;gpﬁih“ cantract by operation of |

{9 y &
aw.

o ._‘-.,‘(_). J

Answer any Two of the following:> P e FE L S o
a) Distinguish between the Contract of Indernity and the Gontract of Guarantee,
b) Explain the Rights of a Bailor in a contract of Bailment.
c) Distinguish between contractsof Pledge and Lien; " -
d) Discuss the duties of an Agent un der the Indian Contract Act.
Answer any Two of thﬂ_\_:f(‘}.:ll”o-v'\iihg;:.-_;«}‘..- ST
a) -Explain the essentials ofa Contract of Sale and state the classification of goods.
b) Explain the meaning of ‘Gonditions’ and the ‘Implied Conditions’ under the Sale of
S Goods ACE S E gl oV
a5 "Di\s\cuss"the"g_tijg;éLfglgtiﬁgfqtransféi‘é‘df.property in the case of sale of specific goods
- an_dfhé;,sglé‘qfuﬁa-s:céﬁ;éi,n'éd goods.

ol \EXplaiﬁ:,th'e-cg.‘r‘jiﬁépf'of ‘Unpaid Seller’ and the unpaid seller’s right of, ‘Stoppage of

_goods -i-qirta_q;‘i.g"andx'.g;g_h'tg of Resale.’

Answer any Twoof the following:
. a)_ Explain‘the essentials of a Negotiable Instrument.
- ~'b) Distinguish between a Cheque and a Bill of exchange.
.- ©) Explain the characteristics of a Cheque. Discuss the types of crossing of cheques.
~v.ed). B)rplai_-ﬁ’\the{{lgani;ﬁg‘of Payment in Due Course, Noting and Protest under the
e Negotiable Instruments Act,

Fad e AN s s o o ok ok sk ko ok oo o KR o o o Kk
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